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1. The length of the shadow of a vertical pole is

1
—— times its height. Find the angle of

/3

elevation .

A. 60°
B. 45°
c. 90"

D. 30"

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7C3uVus9w4qy

2. If a tower 30 m high, casts a shadow 10,/3m
long on the ground, then what is the angle of

elevation of the sun ?

o Watch Video Solution

3. A ladder 15 m long just reaches the top of a
vertical wall. If the ladder makes an angle of

60° with the wall, then the height of the wall is

15,/3m (b) %\/gm (c) ?m (d) 15m

A. 6.Om


https://dl.doubtnut.com/l/_FN93jlwVb81q
https://dl.doubtnut.com/l/_6McekoYlcdZG

B.7.5m

C.8.5m

D. 9.5m

Answer: B

o Watch Video Solution

4. A kite is flying at a height of 60 m above the
ground. The string attached to the kite is
temporarily tied to a point on the ground. The

inclination of the string with the ground is 600


https://dl.doubtnut.com/l/_6McekoYlcdZG
https://dl.doubtnut.com/l/_HumY2Y6e2L6n

. Find the length of the string, assuming that
there is no sl

A.20./3

B.40,/3

C.60,/3

D. 80,/3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HumY2Y6e2L6n

5. The shadow of a tower standing on a level
plane is found to be 50 m longer when when
sun's elevation is 30° than when it is 60°. Find

the height of the tower.

o Watch Video Solution

6. The angle of elevation of the top of a tower
from a point on the ground is 30°. After

walking 40,/3 m towards the tower, the angle


https://dl.doubtnut.com/l/_aCRxiPxeItos
https://dl.doubtnut.com/l/_ZRvbDL1rjqFJ

of elevation becomes 60°. Find the height of

the tower.

° Watch Video Solution

7. The shadow of a tower at a time is three
times as long as its shadow when the angle of
elevation of the Sun is 60°. Find the angle of
elevation of the Sum at the time of the longer

shadow.

A. 60°


https://dl.doubtnut.com/l/_ZRvbDL1rjqFJ
https://dl.doubtnut.com/l/_hPeuMdoEjzAU

B. 30°

C. 45°

D. 15"

Answer: B

o Watch Video Solution

8. The angle of elevation of the top of a tower
from two points distant s and t from its foot
are complementary. Prove that the height of

the tower is 4/st.


https://dl.doubtnut.com/l/_hPeuMdoEjzAU
https://dl.doubtnut.com/l/_LFUooF00IICO

° Watch Video Solution

9. A tree is broken by the wind. The top struck
the ground at an angle of 30° and at a
distance of 4 m from the root. Find the height

of the tree before broken.

o Watch Video Solution

10. From the top of a tower h m high, angles of

depression of two objects, which are in line


https://dl.doubtnut.com/l/_LFUooF00IICO
https://dl.doubtnut.com/l/_MCWobtGtuglj
https://dl.doubtnut.com/l/_Ioo9JLPsHnes

with the foot of the tower are a and
B(B > a). Find the distance between the two

objects.

° Watch Video Solution

11. The angle of elevation of the top of an
unfinished tower at a distance of 120 m from
its base is 30°. How much higher must the
tower be raised so that the angle of elevation

of its top at the same point may be 60° ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Ioo9JLPsHnes
https://dl.doubtnut.com/l/_vvwgaxi461UL

12. A TV-tower stands vertically on a bank of a
canal. From a point on the other bank directly
opposite the tower, the angle of elevation of
the top of the tower is 60°. From another
point 20 m away from this point on the line
joining this point to the foot of the tower, the
angle of elevation of the top of tower is 30°
(see fig.) . FInd the height of the tower and the

width of the canal.

o Watch Video Solution



https://dl.doubtnut.com/l/_vvwgaxi461UL
https://dl.doubtnut.com/l/_Yq8wACY9gjvC
https://dl.doubtnut.com/l/_PKdzy8BtndDo

13. Two man are on the opposite sides of a
tower. They measure the angles of elevation
the top of the tower as 30° and 60°. If the
height of the tower is 150 m, find the distance

between the two men.

o Watch Video Solution

14. Two points A and B are on the same side of
a tower and in the same straight line with its
base. The angles of depression of these points

from the top of the tower are 60° and 45°


https://dl.doubtnut.com/l/_PKdzy8BtndDo
https://dl.doubtnut.com/l/_ngg79CqMmFzL

respectively. If the height of the tower is 15 m,

then find the distance between these points.

° Watch Video Solution

15. A vertical tower sands on a horizontal
plane and is surmounted by a vertical flag staff
of height h. At a point on the plane, the angles
of elevation of the bottom and the top of the
flag are 8 and a. then height of tower equal

to

° Watch Video Solution



https://dl.doubtnut.com/l/_ngg79CqMmFzL
https://dl.doubtnut.com/l/_MR97nfHHQm0e

16. From a point P on the ground the angle of
elevation of the top of a tower is 30° and that
of the top a flagstaff fixed on the top of the
tower is 60( o ). If the length of the flafstaff is

5 m, find the height of the tower.

o Watch Video Solution

17. The angle of elevation of the top of a
vertical tower a point on the ground is 60°

From another point 10 m vertical above the


https://dl.doubtnut.com/l/_MR97nfHHQm0e
https://dl.doubtnut.com/l/_bKtzf9huZkTW
https://dl.doubtnut.com/l/_KPt8eAIPe1HY

first, its angle of elevation is 45°. Find the

height of the tower.

° Watch Video Solution

18. The angles of depression of the and
bottom of a 50 m high building from the top
of a tower are 45° and 60° respectively.
Find the height of the tower and the
horixontal distance between the tower and

the building. (Use /3 = 1.73).

° Watch Video Solution



https://dl.doubtnut.com/l/_KPt8eAIPe1HY
https://dl.doubtnut.com/l/_rJlcYtr3fFOD

19. The angle of elevation of the top Q of a
vertical tower PQ from a point X on the
ground is 60°. From a point Y, 40 m vertically
above X, the angle of elevation of the top Q of
tower is 45°. Find the height of the tower PQ

and the distance PX. (Use /3 = 1.73).

o Watch Video Solution

20. As observed from the top of a light house,

100 m high above sea level, the angles of


https://dl.doubtnut.com/l/_rJlcYtr3fFOD
https://dl.doubtnut.com/l/_qF11dtQvebGK
https://dl.doubtnut.com/l/_KDkVWzsP2omN

depression of a ship, sailing directly towards
it, changes from 30° and 90°. then distance

travelled by ship is

o Watch Video Solution

21. An aeroplane id flying at a height of 300 m
above the ground. Fying at this height ,
theangles of depression from the aeroplane of
two points on both banks of a river in

opposite  directions are 45° and 60°


https://dl.doubtnut.com/l/_KDkVWzsP2omN
https://dl.doubtnut.com/l/_YiqtzQQPQyVH

respectively. Find the width of the river.[use

V3 = 1.732]

° Watch Video Solution

22. A man observes a car from the top of a
tower, which is moving towards the tower with
a uniform speed. If the angle of depression of
the car change from 30° and 45° in 12
minutes, find the time taken by the car now

toreach the tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_YiqtzQQPQyVH
https://dl.doubtnut.com/l/_DtKGBHAKVpeq

23. The angle of elevation of the top of a
building from the foot of the tower is 30°and
the angle of elevation of the top of the tower
from the foot of the building is 60°. If the
tower is 50 m high, find the height of the

building.

o Watch Video Solution

24. A round balloon of radius r subtends an

angle at the eye of the observer while the


https://dl.doubtnut.com/l/_DtKGBHAKVpeq
https://dl.doubtnut.com/l/_NoWVyYZHoK5G
https://dl.doubtnut.com/l/_eApdQBazqncu

angle of elevation of its centre is 3. Prove that

the height of the centre of the balloon is

: o'
r sin 3 cos ec

° Watch Video Solution

25. A plane is flying along a road with a
constant speed of 600 km/h towards a point
on the road. Its angle of elevation changes
from 30° to 60° in 12 seconds. Find the

vertical height of the plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_eApdQBazqncu
https://dl.doubtnut.com/l/_KpkHEGBtQBbj

26. A bird is sitting on the top of an 80 m high
tree. From a point on the ground, the angle of
elevation of the bird is 45°. The bird flies away
horizontally in such a way that it remained at
a constant height from the ground. After 2
seconds, the angle of elevation of the bird
from the same point is 30°. Find the speed of

flying of the bird. (Take /3 = 1.732).

o Watch Video Solution



https://dl.doubtnut.com/l/_KpkHEGBtQBbj
https://dl.doubtnut.com/l/_NLlteazyMP73

27.The angle of elevation of the top of a tower
from a point on the same level as the foot of
tower is ¢. On moving 'a’ mctrcs towards the
foot of tower, the angle of elevation becomes
45° and again on moving b metres in the
same dorection, the angle of elevation
becomes (90° — ¢). Find the height of the

tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_OejagCjJHTWv

28. The angle of elevation of a cloud from a
point 'h' metres above a lake is a and the
angle of deprssion of its reflection in the lake
is 8. Pover that the distance of the cloud from

: . 2h sec o
the point of observation is

tan 8 — tano

° Watch Video Solution

29. A man standing on the deck of a ship,
which is 10m above water level. He observes

the angle of elevation of the top of a hill as


https://dl.doubtnut.com/l/_iFRKF5K8iyB9
https://dl.doubtnut.com/l/_vbwnQRjVHDb4

60° and the angle of depression of the base of
the hill as 30°. Calculate the distance of the

hill from the ship and the height of the hill.

o Watch Video Solution

30. Two stations due south of a leaning tower
which leans towards the north are at
distances a and b from its foot If « and § are
the elevations of the top of the tower from

these stations then prove that its inclination 0


https://dl.doubtnut.com/l/_vbwnQRjVHDb4
https://dl.doubtnut.com/l/_zmDttOSOs3fH

to the horizontal is given by

bcot o — acot 8

b—a

cot 0 =

° Watch Video Solution

31. At the foot of a mountain, the elevation of
its summit is 45°. After ascending 1000 m
towards the mountain up a slope of 30°
inclination, the elevation is found to be 60°.

find the height of the mountain.

° Watch Video Solution



https://dl.doubtnut.com/l/_zmDttOSOs3fH
https://dl.doubtnut.com/l/_ZF78GVDUlDZh
https://dl.doubtnut.com/l/_jejJ8w4wVlWY

32. The angle of elevation of the bottom of a
window 10 m above the ground level from a
point on the ground is 30° A pole projecting
outwards from the bottom of the window
makes an angle of 30° with the wall. If the
angle of elevation of the top of the pole
observed from the same point on the ground
is 60°, find the length of the pole to the

nearest whole number.

o Watch Video Solution



https://dl.doubtnut.com/l/_jejJ8w4wVlWY

33. An observer 1.5 metres tall is 20.5 m away
from a tower 22 metres high. Determine the
angle of elevation of the top of the tower from

the eye of the observer.

o Watch Video Solution

34. The angle of elevation of the top of a
tower 30 m high from the foot of another
tower in the same plane is 60° and the angle

of elevation of the top of the second tower


https://dl.doubtnut.com/l/_ATHIJNX4yAdF
https://dl.doubtnut.com/l/_z9a9S6qs7UFF

from the foot of the first tower is 30°. Find
the distance between the two towers and also

the height of the other tower.

o Watch Video Solution

35. A ladder rests against a vertical wall at
inclination a to the horizontal. Its foot is
pulled away from the wall through a distance
p so that it's upper end slides g down the wall
and then ladder make an angle 3 to the

horizontal then p/q =


https://dl.doubtnut.com/l/_z9a9S6qs7UFF
https://dl.doubtnut.com/l/_Qi4h1qDyb7DT

A. :
sina — sin 3
. cos @ — sina
" sino — sin B
c cos B — cos o
" sinfB — cos 3
D. None
Answer: A

o Watch Video Solution

36. From a window ( h meter above ground)

the angle of elevation of other house is § and


https://dl.doubtnut.com/l/_Qi4h1qDyb7DT
https://dl.doubtnut.com/l/_SYMhWqszMDMx

angle of depression is ¢. Find the height of

the house.

° Watch Video Solution

37. A statue, 1.6 m tall, stands on the top of a
pedestal. From a point on the ground, the
angle of elevation of the top of the statue is
60oand from the same point the angle of
elevation of the top of the pedestal is 4b0.

Find the height of pedestal

° Watch Video Solution



https://dl.doubtnut.com/l/_SYMhWqszMDMx
https://dl.doubtnut.com/l/_karqDakwTWYh

38. Two poles of equal heights are standing
opposite each other on either side of the road,
which is 80 m wide. From a point between
them on the road, the angles of elevation of
the top of the poles are 60oand 300,

respectively. Find the hei

o Watch Video Solution

39. The angle of elevation of the top of a tower

from two points at a distance of 4 m and 9 m


https://dl.doubtnut.com/l/_karqDakwTWYh
https://dl.doubtnut.com/l/_yz5zmtp2E6wj
https://dl.doubtnut.com/l/_tInNplRfKTHi

from base of the tower and in the same
straight line with it are complementary. Prove
that the height of the tower is 6 m.

OR

The angles of elevation of the top of a tower
from two points at a distance of 4 m and 9 m
from the base of the tower of the tower and in
the same straight line with it are
60° and 30° respectively. Find the height of

the tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_tInNplRfKTHi
https://dl.doubtnut.com/l/_4ti4oK07HMBa

40. From the top of a 7m high building, the
angle of elevation of the top of a cable tower
is 60° and the angle of depression of its foot

is 45° . Determine the height of the tower.

o Watch Video Solution

41. A 1.2 m tall girl spots a ballon moving with
wind in a horizontal line at a height of 88.2 m
from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant

is 60°. After some time, the angle of elevation


https://dl.doubtnut.com/l/_4ti4oK07HMBa
https://dl.doubtnut.com/l/_KSu6AsG32oOV

reduces to 30°. Find the distance travelled by

the balloon during the interval.

° Watch Video Solution

42. A straight highway leads to the foot of a
tower. A man standing at the top of the tower
observes a car at an angle of depression of
300 , which is approaching the foot of the
tower with a uniform speed. Six seconds later,

the angle of depres

° Watch Video Solution



https://dl.doubtnut.com/l/_KSu6AsG32oOV
https://dl.doubtnut.com/l/_YGrzaWcdmxJ4

1. The length of the shadow of a pole at a time

is 4/3times its height.Find the sun's altitude

o Watch Video Solution

2. A circus artist is climbing a 30 m rope, which
is tightly stretched and tied from the top of a
vertical pole to the ground. Find the height of

the pole to the ground. Find the height of the


https://dl.doubtnut.com/l/_YGrzaWcdmxJ4
https://dl.doubtnut.com/l/_gky9JMjAUorR
https://dl.doubtnut.com/l/_XD9D4AiIXLva

angle made by the rope with the ground level

is 30° ), as shown in the figure.

Om

° Watch Video Solution

3. The angle of elevation of the top of a tower

from a point on the ground, which is 40 m


https://dl.doubtnut.com/l/_XD9D4AiIXLva
https://dl.doubtnut.com/l/_PbHSjgxd2du9

away from the foot of the tower is 30°. Find

the height of the tower.

° Watch Video Solution

4.The angle of elevation of the top of a tower
from a point on the ground is 60°. which is 25
m away from the foot of the tower. Find the

height of the tower

o Watch Video Solution



https://dl.doubtnut.com/l/_PbHSjgxd2du9
https://dl.doubtnut.com/l/_ncri6wtR8rV1

5. The angle of depression of a ship from the
top a tower of height 50 m is 30°. Find the
horizontal distance between the ship and

tower.

o Watch Video Solution

6. The angle of depression between a flying
kite and 'a' point on the ground is 60 m. If the
string makes 30°.Find the height of the kite

from the ground.

| & I


https://dl.doubtnut.com/l/_snvpSzcruRRF
https://dl.doubtnut.com/l/_6qFYv7PP6PCS

| ¥ Watch Video Solution |

7. The angle of depression of a ship from the
top a tower of height 50 m is 30°. Find the
horizontal distance between the ship and the

tower.

o Watch Video Solution

8. The upper part of a tree broken over by
wind, makes an angle of 30° with the ground.

If the length of the upper part is 8/3


https://dl.doubtnut.com/l/_6qFYv7PP6PCS
https://dl.doubtnut.com/l/_RokwiOxfnMQj
https://dl.doubtnut.com/l/_BGTEuN2MSah2

metresthen what was the height of the tree

before broken ?

° Watch Video Solution

9. In a violent storm, a tree got bent by the
wind. The top of the tree meets the ground at
an angle of 30°, at a distance of 30 metres
from the root. At what height from the
bottom did the tree bent? What was the

original height of the tree? (Use /3 = 1.73)

° Watch Video Solution



https://dl.doubtnut.com/l/_BGTEuN2MSah2
https://dl.doubtnut.com/l/_zLPrwimD4R72

10. The angle of elevation of the top of a tower
from a point on the ground is 30°. After
walking 45 m towards the tower, the angle of
elevation becomes 45°. Find the height of the

tower.

o Watch Video Solution

11. There are two points on the horizontal line
passing through the foot of a tower in the

same side of the tower. The angle of


https://dl.doubtnut.com/l/_zLPrwimD4R72
https://dl.doubtnut.com/l/_JbrVMTBRi5EC
https://dl.doubtnut.com/l/_ZCvU9c0qs1lQ

depression of these point from the top of the
tower are 45° and 60° respectively. Find the
distance between the two point if the height if

the tower is 150 metres.

O Watch Video Solution

12. From the top of a light house, the angles of
depression of two ships on the opposite sides
of its are observed to be aandp . If the height
of the light house be h metres and the line

joining the ships passes through the foot of


https://dl.doubtnut.com/l/_ZCvU9c0qs1lQ
https://dl.doubtnut.com/l/_3pLtETmHUVXa

the light house, show that the distance
tana + tan S

tan atanp

between the ship is h

o Watch Video Solution

13. From the top of a light-hours, the angles of
depression of two ships on the opposite sides
are observed to be 30° and 45°. If the
height of the light-house, is 90 m and the line
joining the two ships passes through the
light- house, then find the distance between

the ships.

| = |


https://dl.doubtnut.com/l/_3pLtETmHUVXa
https://dl.doubtnut.com/l/_zNrkZNA8Uhj0

I 0 Watch Video Solution I

14. An aeroplane, when 3000 m high, passes
vertically above anthoer aeroplane at an
instant when the angles of elevation of the
two planes from the same point on the
ground are 45° and 60° respectively. Find

the vertical distance between the tow planes.

o Watch Video Solution



https://dl.doubtnut.com/l/_zNrkZNA8Uhj0
https://dl.doubtnut.com/l/_rT6k8kZa4Gzi

15. The angle of elevation of the top of am
incomplete temple, at a point 30 m away from
its foot, is 30°. How much more high the
temple must ne constructed so that the angle

of elevation of its top at the same point be

45°.

o Watch Video Solution

16. The angle of elevation of the top of an

incomplete tower, at a point 40m away from


https://dl.doubtnut.com/l/_a4AO86qtfPTD
https://dl.doubtnut.com/l/_rRaTNkItLM91

its foot, is 45°. How much more high the
tower must be constructed so that the angle
of elevation of its top at the same point be

60°?

o Watch Video Solution

17. On a straight line passing through the foot
of a tower, two points C and D are at distances
of 4 m and 16 m from the foot respectively. If

the angles of elevation from C and D of the


https://dl.doubtnut.com/l/_rRaTNkItLM91
https://dl.doubtnut.com/l/_9bWQ4ZbDTPZP

top of the tower are complementary, then find

the height of the tower.

° Watch Video Solution

18. The angle of elevation of the top of a tower
from the foot of a house, situated at a
distance of 20 m from the tower is 60°. From
the top of the top of the house the angle of
elevation of the top of the tower os 45°. Find

the height of house and tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_9bWQ4ZbDTPZP
https://dl.doubtnut.com/l/_uNEcBKmVGEXL

19. There is a 7m high statue standing on a
cliff. At a point P on the ground, the angle of
elevation of the foot of the statue is a. After
walking 34 metres towords the cliff from that
point, the angle of elevation of the top of the
statue is (90° — a), find the height of the cliff

iftanc = —.
IT tal & 5

o Watch Video Solution



https://dl.doubtnut.com/l/_uNEcBKmVGEXL
https://dl.doubtnut.com/l/_SaEwWGjmhG6g

20.The distance between two towers is 140 m
while seeing from the top if the second tower,
the angle of elevation of first tower is 30°.If
the height of the second tower is 60 m, then

find the height of the first tower.

o Watch Video Solution

21. A temple and a flagstaff surmounted at its

top, each subtends equal angle of 30° at a


https://dl.doubtnut.com/l/_K2oSY63oshkK
https://dl.doubtnut.com/l/_EIQ3bvJwwPpQ

point on the ground. If the height of the

temple is 10 m, find the height of the flagstaff.

O Watch Video Solution

22.A 7 m long flagstaff is fixed on the top of a
tower on the horizontal plane. From a point
on the ground, the angles of elevation of the
top and bottom of the flagstaff are
45° and 30° respectively. Find the height of

the tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_EIQ3bvJwwPpQ
https://dl.doubtnut.com/l/_imhAesaF3gpU

23. At one side of a road, there os a house and
on the other side there is a tower. House and
tower are on the same horizontal plane. The
angle of depression of the top and foot of the
house, from the top of the tower are
30° and 45° respectively. If the height of
the house is 10 m, then find the distance

between the house and the tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_imhAesaF3gpU
https://dl.doubtnut.com/l/_HSUhKzPXY8Nk

24. A tower subtends an angle of 60° at a
point on the plane passing through its foot
and at a point 20 m vertically above the first
point, the angle of depression of the foot of

tower is 45°. Find the height of the tower.

o Watch Video Solution

25. An aeroplane is flying over two houses
which are at a distance of 300 m from each

other. If at some moment from the aeroplane


https://dl.doubtnut.com/l/_yPMIvZle40qf
https://dl.doubtnut.com/l/_scBcLFmVZwiX

the angle of depression of two houses on the
same side are 45° and 60°, at what height

the plane is flying ?

° Watch Video Solution

26. From the top of a 96 m tower, the angles of

depression of two cars, on the same side of

the tower are « and Prespectively. If
1 1

tana = — and tanf = = then find the

4

distance between two cars.

° Watch Video Solution



https://dl.doubtnut.com/l/_scBcLFmVZwiX
https://dl.doubtnut.com/l/_89jTfGgpXLYa

27. The angle of elevation of the top of a

vertical tower, from a point in the horizontal

plane passing through the foot of the tower is

6. On moving towards the tower 192 metres,

the angle of elevation becomes ¢. If
5 3

tand = — and tan¢ = —, then find the

12 4
height of the tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_89jTfGgpXLYa
https://dl.doubtnut.com/l/_kfT1EEp5xCM0

28. The upper part of a tree broken over by the
wind makes an angle of 60° with the ground
and the horizontal distance from the foot of
the tree to the point where the top of the tree
meets the ground is 10 metres. Find the

height of the tree before broken.

o Watch Video Solution

29. From a boat, which is moving towards a

bridge, the angle of elevation of bridge is 30°.


https://dl.doubtnut.com/l/_d3d1IH13g7MG
https://dl.doubtnut.com/l/_MbYmVMh19OYz

After 10 minutes, the angle of elevation
becomes 60°. Find how much more time will

take the boat to reach at the bridge?

o Watch Video Solution

30. The angle of elevation of the top of a
building from the foot of the tower is 60°.
After a flight of 15 seconds, the angle of
elevation changes to 30°. If the aeroplane is
flying at a constant height of 1500,/3m find

the speed of the plane in km/hr.

| e |


https://dl.doubtnut.com/l/_MbYmVMh19OYz
https://dl.doubtnut.com/l/_XpjzqOSHOSqN

& Watch Video Solution I

31. The angle of elevation of the top of a
building from the foot of the tower is 30° and
the angle of elevation of the top of the tower
from the foot of the building is 45°. If the
tower is 30 m high, find the height of the

building.

° Watch Video Solution



https://dl.doubtnut.com/l/_XpjzqOSHOSqN
https://dl.doubtnut.com/l/_5SPzixYLJ4vE

32. A flagstaff on the top of tower 80 m high,
(1 :
subtends an angle tan 9 at point on

the ground 100 m from the tower. The height

of flagstaff is

o Watch Video Solution

Revision Exercise Short Answer Questions

1. A pole of height 6 m casts a shadow 2,/3 m

long on the ground. Find the sun's elevation.



https://dl.doubtnut.com/l/_z2Suj1p6BDoJ
https://dl.doubtnut.com/l/_AHu5tyXVLHRU

I D Watch Video Solution

2.Find the angle of elevation of the sun when
the shadow of a pole 'h' metres high is 1/3h

metres long.

° Watch Video Solution

3. The angle of elevation of the top of a tower
from a point 40 m away from its foot is 60°.

Find the height of the tower.

l a Watch Video Solution


https://dl.doubtnut.com/l/_AHu5tyXVLHRU
https://dl.doubtnut.com/l/_1leQmSWOA66u
https://dl.doubtnut.com/l/_7QxTg5c7VMdN

4. The height of a light house is 40 m. The
angle of depression of a ship from the top of
the light house is 60°. Find the distance of

ship from the light house.

o Watch Video Solution

5. A man goes 80 m on an inclined cliff inclined
at 45° from the horizontal. Find the vertical

height of the man from the ground.



https://dl.doubtnut.com/l/_7QxTg5c7VMdN
https://dl.doubtnut.com/l/_smKFRarJ6HGq
https://dl.doubtnut.com/l/_V0u5VRzg6KM2

\ o Watch Video Solution ‘

Revision Exercise Long Answer Questions

1. An aeroplane is flying above a horizontal
road between the two consecutive kilometer's
stones. These stones are on the opposite sides
of the aeroplane. The angles of depressionof
these stones from the aeroplane are
30° and 60°. Find the height of the

aeroplane from the road.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_V0u5VRzg6KM2
https://dl.doubtnut.com/l/_CIozpH1gRHpq

Long Answer Questions

1. From a window, 60 metres high above the
ground, of a house in a street, the angles of
elevation and and depression of the top and
foot of another house on the opposite side of
the street are 600 and 450 respectively. Show
that the height of the opposite house is

60(1/3 + 1) metres.

° Watch Video Solution



https://dl.doubtnut.com/l/_CIozpH1gRHpq
https://dl.doubtnut.com/l/_lLlhbPkw6KJC

2. On a horizontal plane there is a vertical
tower with a flag pole on the top of the tower.
At a point 9 metres away from the foot of the
tower the angle of elevation of the top and
bottom of the flag pole are 60°and30°
respectively. Find the height of the tower and

the flag pole mounted on it.

° Watch Video Solution



https://dl.doubtnut.com/l/_lLlhbPkw6KJC
https://dl.doubtnut.com/l/_QMMSu43pdHnD

3. A boy standing on a horizontal plane finds a
bird flying at a distane of 100 m from him at
an elevation of 30°. A girl standing on the
roof of a 20 m high building finds the angle of
elevation of the same bird to be 45°. Boy and
girl are on the opposite sides of the bird. Find

the distance of the bird from the girl.

o Watch Video Solution



https://dl.doubtnut.com/l/_9duhIA3EKPe7

4.The angle of elevation of the top of a tower
as observed from a point on the ground is 'a
and on moving 'a’ metre towards the tower,

the angle of elevation is '8’ Prove that the

atanatan

height of the tower is :
tan 8 — tan«o

o Watch Video Solution

5. The angle of elevation of a cloud from a

point 60m above a lake is 30° and the angle of


https://dl.doubtnut.com/l/_eTUFR3gezooF
https://dl.doubtnut.com/l/_pPZnsKAd1Auf

depression of the reflection of cloud in the

lake is 60° . Find the height of the cloud.

° Watch Video Solution



https://dl.doubtnut.com/l/_pPZnsKAd1Auf

